


What’s Python?

 What is Python?

° Python IS programming language

e Since 1991 (33 Years old).
* By Guido van Rossum.

* Why Python?
* Closest to “coding in English”.
e Simple for beginner.
* Intuitive, readable and clean.
* Allows us focusing on concepts and algorithms.
 Among the most popular programming languages.
* You WILL use it.

. PEogramming language is merely a tool for practicing the concepts we learn
about.



https://en.wikipedia.org/wiki/High-level_programming_language
https://en.wikipedia.org/wiki/General-purpose_programming_language
https://en.wikipedia.org/wiki/Type_system
https://en.wikipedia.org/wiki/Garbage_collection_(computer_science)
https://en.wikipedia.org/wiki/Programming_paradigm

IDLE (in HW)

A IDLE Shell 3.11.5 O X

File Edit Shell Debug Options Window Help

Python 3.11.5 (tags/v3.11.5:cce6ba%, Aug 24 2023, 14:38:34) [MSC v.1936 64 bit ( »
AMD64)] on win32

Type "help", "copyright", "credits" or "license()" for more information.
print ("welcome to Intro to CS course")

welcome to Intro to CS course
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1f (5 * 6) >= 30:

print ("IF condition held")

IF condition held
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Concepts (reminder)

* Variable: ‘a container for storing data values’ b
Int
e Types: int, float, str, bool, ... 101 S .
IICSH
e Operators: /, *, +, -, ... x =2 4+ 99

e Assignment: assigning values to variables —1
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if condl: —

opl
op2
op3 3
~ elif cond2:”
op4
elif cond3:
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